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Please check whether you have got the

L AII questions are compulsory.
2. Figures to the right indicate full marks.

right
NB:

Ql A. Select the most appropriate answer from the
is a process ofdeciding the

a) Routins b) si:heduling c)

ii) measure heips
a) Value engineering b)

iii) is a process o{'
a) QLralitl control b)

i)

vi) The

iv)

a) Henri Fayol

r,) ISO stands loi
a) Indian

'.-1

.:'

a)

vii)

.::.:

stock exchanges.

markef d) money market

to the issues ofdebt securities.
,bit d) Credit

investors of securities and Depository
c) Stock exchange d) RRI

to investors in mutual funds
d) e0

are often retired entrepreneurs or executives who want to make
and mentor the next generation

b) Foreign investors c) Angel investors d) peer investors
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rii) 'l'lrr: ,.,iirrcrtpt ol'Micnr-liniin( (' \\;!s l'ttst titltoilrtt:etl lrr N1 r

ti) Nfuhanrmad Yr:unus b) t{alan'l'ata r:) l}havish Aggarrvit! d) kitikcrlr Artttrttrrt

(B) State whethel the ftHr-rwing stfftements are ?rue or
ti

i) Dispatchtng re,fers to decidingthe start time

ii) Productivity is the ratio ofoutputto input.

iii) inventory inolueies stock of raw materiais

iv) TQM belie';es in producing def'ect fiee

v) Qualit-v Circie is f'ormed voluntarily by

vi) SERQUAL Modelis known as GaP

vii) Stock brokers need not register

viii) If the issue is fully subscribed

and

;:.

In India Bull speculators are

There isno difference

Index scheme

Sensex.

xii) SHG encourages

Q 2" Answer any

Q.6.
i)
ii)
lll,l

iv)
l)

vi)

ix)
x)

xi) as the BSE
t.

(1s)

anel interniitter:t prlducticn

(1s)

(ls)

(15)

nds.

b) Explain the types ol'derivativs trtrtrkct.

c) llxpltin thc irtiporlltrtce ol'N4icro llttltttr-:c

\Yrite short note on: (anY 4)

Scientific inventory corrtrol svstem

Cost of Qualitl'
Six Sigma

ICRA credit rating agenc,,"'

Future Contract

SIP

Q3.

What do you mean

Whal aie the

systern?

i !..:

Q,4. Answer: anj
a) Explain ln of IVtroney rnarket.

of NSDL


